USN 10CVe63
Time: 3 hrs. Max. Marks:100
ions, selecting

§ 1 a (08 Marks)
g b nmg of wheels? Wha are the advantages of coning
S (06 Marks)
% c (06 Marks)
ﬁ 2 a. What are the requlremeﬁfs of good ballast? Mention'the different types of ballast used in
i permanent way. _ (06 Marks)
= b. Estimate the quantlty of the materials requi for 2.5 km B.G track with a sleeper density of

(n+7). M7 , (06 Marks)
C. Determme th ‘maximum train load that

'v

track. pmo @ (06 Marks)
b. Define gradlent Mentlon the different. types of gradlents in railway track. What is grade
compensat10n'7 & (06 Marks)
c. A S5°curye diverges from a 3° main curve in reverse dlrectlon in the layout of a B.G. yard. If
the spe"é;d’; on the branch ling-is restricted to 35 kmph "Determine the restricted speed on the

main ling. P (08 Marks)

4 4

4 a fDraw a neat sketch o of a rxght hand turn (Jut and show its various component parts. (06 Marks)
b. ,Explam briefly theéwo;*kmg ofa semaphore 51gnal with the help of a neat sketch. (06 Marks)

c. Calculate all the necessary elements requlred to set out a 1 in 8.5 turnout, taking off from a
straight B.G. track with its curve. startmg from the toe of the switch, i.e. tangential to the

gauge face ¢ ’fz,the outer main rail and passes through theoretical nose of crossing. Given heel

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

divergence d = 11.4 cm. (08 Marks)
PART - B
5 a. List the factor to be considered while selecting a suitable site for an airport. Briefly explain.
/ (10 Marks)
b.  What is wind i'qsg diagram? Explain any one method of constructing wind rose diagram.
(10 Marks)
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case and normal take off case. (06 Marks)
Explain the factors which affect the location of exit axl wéy (06 Marks)
The length of runway under standard conditions is 1 626 m. The airport site has an elevation
of 270 m. Its reference temperature is 32. 94°‘ )f runway is to be constructed with an
effective gradient of 0.20%, determine the co ; - (08 Marks)

What is tunnel? Mention its advantage (04 Marks)
Explain a method of transfer of centre (10 Marks)
Explain with sketch the needle bgﬁfg (06 Marks)
Write short notes on: W@“@ P pe

(i) Natural Harbour.¢"

(i)  Quays and»ﬂe};t\ié :

(iii)  Tetra poolsfz (12 Marks)
Explain with sultﬁb [ © (08 Marks)
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